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0O 32 2 0ol Adeaz
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=] 1,040
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0 =&l 3,120
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Al 100,000
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= 87,000
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lA2GHI(BZ) 63,999,721 60,453,834 3,545,887
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O g=H 5,900,085
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SR
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55
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2,948,700 = 29H 128 » 1.018 72,043
23 6=
3,072,200& = 14H 128 ~ 1.018 37,530
a2 Lz
3,563,800& » 49H 128 » 1.018 174,142
0O s 984,000
O <X 40,000& = 700 » 123 336,000
O JIEt Jt=& 20,000& = 1,150 » 12& 276,000
O =M 60,000& = 350 » 12& 252,000
O AW o= 100,000& = 100% » 128 120,000
O XESH XY 655,620
O s 468,300& * 3508 * 42| 655,620
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O EZ2x=Eltit= 1,264,320
O 254 0l& 130,000& » 451 » 128 703,560
O 25@ 08t 110,000& = 228% * 12& 300,960
O 15~204 0O|¢gt 80,000& = 60 = 12& 57,600
O 10~154 0O|¢gt 60,000& = 115H » 123 82,800
O 5~104 0Ojgt 50,000& = 199 « 12& 119,400
FE2RE 59,400
(O — - 50,000& = 759 « 123 45,000
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- 6~72 30,000& = 220H » 123 79,200
- 82 Olot 20,0003 = 140¥ = 128 33,600
- ez 60,000& = 3% = 128 2,160
- N Z A 50,000& = 35% = 12& 21,000
oA 3,000
-34 0y 224
50,000& = 5% = 12& 3,000
DIRN =] 82,200
- JIE A 50,000& = 1 = 128 600
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30,000& = 160 = 12E 57,600
- AHH DAL 20,000& = 70¥ = 12& 16,800
- N2 10,000& = 10& = 128 1,200
- AL 20,000 = 259 = 12& 6,000
O g2 gdesos+< 84,000
AsAd 50,000& = 40 = 12& 24,000
o2 Il At 50,000& = 5% = 12& 3,000
BAISAHZE  250,0008 * 16% = 128 48,000
=S, =9 H
250,000& = 3% = 128 9,000
O dxxgesg 3,840
AR Z2J 80,0008 * 4% « 128 3,840
O &g 6,312
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INISES 1,920
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- 4= 100,000& = 1H = 123 1,200
- 55 80,000& = 2H » 12& 1,920
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6= 4,420,930& ~ 198 + 128 » 1.018 54,007
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nsstu 468,300 * 7¥ * 42| 13,113
O FHzAH 130,000& = 18 = 12& 28,080
O S22 &t
837,316,000& = 1/12 = 0.84 » 0.86 * 1/3 25,204
0 x 15¢
O e gsH 50,000& = 18 = 12& 10,800
O A2 x4 31,740
6= (52 4Y)  250,000& * 1¥ « 128 3,000
ICEICERR=S) 155,000& = 5% = 12& 9,300
g2 (7=24e) 140,000& » 8Y = 128 13,440
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033z 834,474
O Jlzs 604,002
2erdd
3,546,800& = 13F « 12& * 1.018 563,261
MEEE
3,335,000& ~ 1% » 12& = 1.018 40,741
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O 3d=2=+¢ 604,002,000& * 2/12 = 0.5 50,334
O FZ2=gitts 15,600
254 0l &f 130,000& * * 128 7,800
20@ 0Ol &f 110,000& * * 128 3,960
10~15& 0O gt 60,000& = * 128 1,440
5~10& 012t 50,000& = * 128 2,400
O Jlsd=2sg 20,0003 = * 128 480
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50,000& = * 128 600
O ZsX=<(ZF) 30,0008 = 5% « 12¢ 1,800
O FEAsAHI 130,000& * 149 » 12& 21,840
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O A=E X2 2,141,340
O AZE 650,000& = 1H » 123 7,800
O 2AI%E 500,000& = 198 = 12& 6,000
O 45 400,000& = 6H » 123 28,800
O 528 250,000& = 58 = 12& 174,000
O 62 155,000&  372% » 128 691,920
o772 140,000 » 334Z » 128 561,120
O 8938 125,000 * 443F * 123 664,500
O MEMRL 22X
300,000& = 2H » 123 7,200
At EXeraEelAH X 90,000 180,000 290,000
= 63,000
< 8,100
Al 18,900
101 @124l 90,000 180,000 290,000
= 63,000
< 8,100
Al 18,900
01 2=+ 90,000 180,000 290,000
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A& ol 90,000
O '1ed 78 ML 15,000,000& * 4%H 60,000
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= 5,400
Al 12,600
O "17@ 78 Mk 30,000,000& * 1H 30,000
= 21,000
= 2,700
Al 6,300
INE2HSEMBAHYIXA 24,000 24,000 0
= 24,000
101 124 dl 24,000 24,000 0
= 24,000
01 2= 24,000 24,000 0
0 HEBHS=NS 228 24
24,000,000& * 1H 24,000
= 24,000
JlEZ3l 110,252 109,812 440
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O #HEARID| A2 2L 17,000
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250,000 = 2CH = 54 2,500
O #HEANRIII =84l 5,500
Z2EH 300,000& = 5CH 1,500
Zelf 300,000& * 501 * 23] 3,000
Z AHD| 500,000& * 1CH * 23] 1,000
O MRA 29 Ha 22 250,000 * 12€ 3,000
O g2tX 25 20,000& = 10 * 12& 2,400
02 3524t 2,130 1,960 170
02222 2 HA 2,130
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02 RIS R =X H]| 11,222 10,952 270
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204 = 2 4= A H| 1,200 1,200 0
01 MM S HRHAH| 1,200 1,200 0
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